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2) Rhythm flag missing in orig.
1) Rhythm flag missing in orig.
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1) "a" on 3rd course deleted by editor.
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




 













 



























80 

























Sexta pars

 



















 
  




    
  

    
    


  










   
    


  

    
  


   

   







  
  








  
     

           








     



   




     
    


  



85 






   
  

    
  


    

  
  

  
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1) Note inserted by editor.







 


    















  









  

    




    








 
 

  
    

  


    
 

    
 







 
  


  


  

  
  

    
     

90 






  
    

  
  






 
  

      
 








 
  


  


  





  
  





  
   





    
  


    








  
    

  
  









 
 




    
  

  
     

  
  






  
        

  


    
  

  
 


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95 





    
           




  
  


  





  

   
 





 

 






 
 

 







Septima pars
















   



   




   



   




  









  




  






 



 



 



 

100






 




 



  




 
 




  



  



   



  




  



 





   



  






  



  




 





   




  









  




 

105






   



  






 



 








  



   




  



  







 



  




 



 


































 











 



 







  




  

110










 



 



 









 
















   






 




 






 









 
  






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